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N;;00000000000000000000000000000000
N;»;0000000000000000000000000000000
N,;0000000000000000000000000000000

Ne; 0000000 DDO0O00ODOOO0O0DOO0O00DbDO0O0oooDon

Py(r) = (3.6)

g330bgobgobobboobog3rgbon

033 0000000b00adgoon
Ooooo(@) (00000000000

00000 (O) | This box is made from wood
0000 (0) X10 X2 X3
0000 (0) X1 X3 X2

oooo000 (@) | oo0oo0O0ooooooo

000000 (O0) | This box is made from iron

oooag
this box

gooobgoobob P00 3.8000.

Ps( ) = (5/6) % (5/6) = (6/7) * (6/7) = 0.51 (3.7)

agood
Dice(0 O O Othisbox) * PS(W)
isbox

= 0.28%0.51 =0.142 (3.8)

Ps
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4.1 0OO0OO

gobbbuoggobbooogoboboooobobbuoooobbbooooon
gooboooooooooo"oboboboboorg"bicebgbonoonooronog
gbooboobooobgorbobobob"oboosbobbooboboobooobo

4.2 0OO0OO0O0O

0000000000000 0O0O0000OO000OODOO plbOO00DOOUOoDOO
goboooboboggb.oboogbbuooobbuoooobooo.gobbooobn
gogbboboooobbbdoo41b,000b0boboooobob420000

0 4.1: 00000000000000000000

ooono OO0O00Do0o0Doogao

oon Luck turned in my favor .

oooo O0DO0DOoO0o0ooDOoogoao

ooo The Bon Festival is a festival of worshipping our ancestors .
0000 |00D00bO0o0bo Oboo0odbO oboob oo oooo o d
aooo Pop music blared from a cassette player .

042: 00000
00000 | 160,000 0

000 1,000 O

4.3 UO0OOO

000000000000000000000000000000000000000
0000000000 10000020000000000000000000 BLEU[7]O
METEOR8]0 TER[9]0 RIBES[10] 0 0 00 O
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50 Uugg

5.1

Jooogo

sugobobogobbooilcoobbbooobboooobobuooobboilcogdn
ggbbbuooobbbouooobooobobbooodobbobo

o bOOUOO0OObOOOOOODLDDOOOU

dleoe bbb loooobobooobbnbd

gd 2o 0000020000 ooobobnbn

Uixbobuggobbouoodgobbod

U 1lxbOobouoggilgbbooodgbbobod

gd2x000dgg20bbooodgbbobod

g bbouodgbobbbooobobbbooobbbboooobbbodoo

gobbooogbbodas1ibbob

gs5l:0000100000000000
UOo 0OO0O1o 0OO0O20 0OOx 0O0O1x 0O0O2x 0

6 14 3 0 6 9 62

gboboobooobobs2000s70booooboobobooooobboonbon
gbgbODiceO0ODOO0DODOODODOODODOODODOODODOOD
gobbooogd
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U 52: 00000

oo0 000000000 O™
odn I've started a journal .
goooo I began to write a diary .
0000 (0) NOOO OO No1O O
oooo (0) I O 01 write a O 00 .
Oooooo -29.881766
Oo0oOoooo -13.009582
Oooooo -3.599263
001000 The Army began the diary .
oooo (0) NOODO OO OO0 OO
0000 (0) The Army began the O 00 .
Oo0Doo0oo -34.287694
OooOoDooo -23.354406
OO00oOoDooooo -15.255424
ggz2000 The Army began the diary .
0000 (0) NOO O NO1 O
Ooooo (0) O 01 the O 00 .
OO0DOo0o0 -34.287694
Oo0ooogo -2.476900
DiceODOOODODOO -0.148458
o000 0000000000000 0aod
odn The fire took place ten days ago .
Oooooo The fire broke out in 10 days before .
001000 The fire broke out before the tenth .
002000 The fire broke out in front of the tenth .
oo0 OO00OO0O0OooDoooogao
ooo He drew on his past experience .
ooooad He relied on his past experience .
go1ooo He was past dependent on his experience .
ood2000 He is economically dependent on his past experience .
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0 53: 001000

ood O0D0D 000000 DOOoODOOoODOaD
ood They are burning fallen leaves
in the grounds of the shrine .
ooooo The shrine is Inside burned fallen leaves .
O0oo (0) NO05 N02 N03 N04 O NOO NO1 O
Ooooo (0) 002005001003000004.
DoOoood -66.728267
Ooooooon -6.025362
DoOoood -20.106336
oo1o000 I have burned the fallen leaves
in the shrine Inside the premises .
Oooo (0) NO03 O NOO N02 N04 NO1 O
Ooooo (0) 10010040 02thed 030 00 .
Oo0Oooog -72.737649
Ooooooon -7.34012
Oo0OoooOoooo -98.927199
gd2000 The shrine is Inside burned fallen leaves .
o000 (0) NO05 N02 NO3 N04 0 NOO No1 O ”
0000 (0) 002005001003000004.
Oooood -66.728267
Oo0OoooOon -6.025362
DiceOOODODOOOO -8.828174
ood OO0O00ooooogoao
aooo He made a mistake in the application of the law .
goooo He misallocated the laws of minors .
ood1o000 He took a wrong to invoke the law .
o0d2000 He misallocated the Disaster Relief Law in the law .
ooad 0000 000000 oooooodo od
ooo Michael Jackson has recorded a new song .
ooooo The Michael Jackson inspired a new song recorded .
oo1000 The Michael Jackson recorded a new song .
ood2000 He helped usher in a new Michael Jackson .
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0 54: 002000

ooo OO0 0O0O0O0O00ODDoOD0oO0oOooogoao
oo I’d like to live my life without regrets .
goooo I want to see life is not of regret .
o000 (0) NO1 O NO4 O NO6 N03 N05 N02 N00 O
oooo (0) 0010000050020 030060f0 04.
oooooo -72.387453
0O0ooogo -2.649630
oooooo -22.870618
O0100d I T wish regretted life .
oooo (0) NO3 O NO20O OO NO1 O Noo DO
o000 (0) 0030000020 01.
Oo0oooo -83.460649
OOoooogo -22.288554
OO00oOoooogo -65.5755H4
od2000 I want to lead a life no my regret .
o000 (0) NO04 O NO02 O NO1 N0o0O OO N03 O
o000 (0) 003a000001004002.
000000 -71.683916
ooooogo -6.206232
DiceODOODOODOO -11.858005
0oo0o 00000000 o0ad
goo She sprained her ankle .
goood She sprained my ankle .
go1o000d She sprained my ankle .
Ooo2000 She twisted her leg .
OO0 0000000 DODOObOO0OO0OO0ObOo oo
oo He gunned the motorcycle engine into life .
ooooo He puffed at his motorcycle engine .
Oo010040 He took a pull at his motorcycle engine .
Ooo02000 He took his motorcycle engine .
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U o55: 001x00

oono OO0 0O0o0ogooogaod
ugn The host waved his guests to a seat .
goooo The host offered the guest the seat .
oooo (o) NO03 O NO1 O NOO N02 No4 O O
oooo (o) 0 030 04 thed 01 0020 00 .
oooood -26.036633
ooooooo -6.831383
oooood -20.436261
go1o000 The host offered the guest a glass
of the seat .
oooo (o) OO0 0 00NoO OO OO
oooo (o) The host offered the guest a glass of O 00 .
oooooo The host offered the guest a glass of O 00 .
ooooooo -17.908530
Oo0oO0Doooog -21.484719
go2000 The host offered the guest the seat .
ooog (O) NO1 O NOO O NO02N03 O O
oooo (o) 0010 03 thed 000 02 .
ooooog -26.036633
ooooogoo -8.155711
DiceOOOODODOO -12.526808
oo0 0000000 O0O0ODOO0O0OOoood
ooo The culprit seems to have got on this train .
goooo The criminal seems to be loaded in the this train .
gbo1gooo The criminal seems got is the this train .
gbo2000 The criminal seems to be loaded in the this train .
000 0000000000
odn The horse is jockeyed by him .
oooono He holds the horse .
ogo1g0od The horse holds him .
go2000 He holds the horse .
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0 5.6: 00 2x 00

ooo 00000000000 oooooaoan
oo I embroidered my name
on the handkerchief .
ooooad She embroidered her name
on a handkerchief .
o000 (0) 0000 NOONO02O NO1O O
o000 (0) She 0 01 her O 02 O 00 a handkerchief .
oo0oooo -51.192848
ooooooad -7.890944
oo0oooo -10.521583
oo 1000 She embroidered her name
on her handkerchief .
o000 (0) NO1O NOOO ODDOO O 0O 0O
o000 (0) She embroidered her [0 00 on her 00 01 .
oooooad -59.809190
ooooood -11.290342
0o0o0oOo0o0oon -28.022058
oo2000 She embroidered her initials
on a rock with a handkerchief .
o000 (0) NO02 O NO1 O Noo O
o000 (0) O000a0do01002.
oooooad -38.325355
ooooooad -8.208456
DiceOOODODOOOO -6.702979
ooo 0000000 ooOoDbDooao
oo I am always careful about my health .
ooooo There is always pays attention to the health .
Oo01000 Health is always attention .
Ooo2000 I always take the warning .
oon 0000000000 0n
oo He took the customer’s order .
ooooad He took the order from the customer .
OOo1000 He took the order from the customer .
O02000 He took my order for the guest .
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gs.70000000000000000000000O0000000O00000

ood 00000 OOO0OOooOoogad
ooad The fault is with the one has not
observed the contact .
ooooo not signed preserve of a bad person .
0000 (0) N05 N04 N0O NO2 NO1 N03 O O
oooo (0) googdos0Oo4003001002.
Oooood -79.228048
ooooooo -7.824789
Oooood -28.636751
ood1o0oo is toword the bad keep their contact .
oooo (0) N04 NO1 N03 NO2 N0O No5 O O
0000 (0) 0030020050000 010 04.
oooood -97.000000
O0oooon -8.485753
ooooooood -101.084818
O0O2000 The riddance jealously lease
of the contact .
0000 (0) NO1 N04 N02 NOO O No03 O
0000 (0) The O 0O0O 020 010 040 03 .
oooood -78.458952
O0ooooo -3.281977
DiceOOODOOOOO -11.793332
ood 0000 oooooodd
Ooo0o We can see the whole harbor from here .
ooooo I see harbor well from here .
OO0 1000 I see harbor well from here .
O0O2000 Here you can see the harbor .
o0od OO0 000000000
ooo They were ready to flee .
goggg They became OO 0O .
Oo100d They became 0O OO .
Oo2000 They became O 0O 0O .
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5.2 OOODOOO

gbodbioooobobooboboooboboboobobobbossbood

ggbbobooogboboooooboon

U s8 00dgilooobboodgooon

goooo

BLEU METEOR TER  RIBES

000000 (P)
000000000 (P)
Dice 00000000 (P)

0.1495 0.4175 0.6467  0.7309
0.1552 0.4308 0.6388 0.7354
0.1459 0.3955 0.6762  0.7139

5.3 UUHOOoonUn

gs100s8007"0H0O0DLO0DOODOO’HOOODODOODOODODODO”Diced
gboobobo"oooobooboboboooobooboooboboobobOooDooog
gogbobobbodggogbobbouogobosbbbuooonooboboooooboon

ggbobooogboo
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6.1 U0O0OO0O0OO0O0OO0O0OO

gsliduogooogobbboboobbbbotboudooooooooobobobooob
ggbbobugoobbbuoooobbboooobboooobbboooobbn
gobbobuogoobboboooobbboooobbbooooobobouooonbon
gogbbbuogooobbbuoooobbbdooobobbboooobbbboooobbn
gobbobuogoobobbuoooobbbuooobbbooooobobbouooonbon

6.2 U0OOOOO

gbobooobdob pODbDODOO0ODODOODLOO’O0ODLOODO APODLODOO
gogbobobbooogbboboogo2000bbbooooobbbooooobon
O000000O0O0O0O0O0ODOOODOOODODOOOO (trigram) 0000000 OOOO
ggbbobuoooobbbuoogobbbuoooobbbouooobobobod

gobbboooobboooooboboooobbobuoooobbbuoooobooon
gogbbobuooobbbuoooobbbduoobobbboooobobobboooobon
gogobobooogooobogo

6.3 UQOOO

gssugdlxugsgbbuogdbbugglgobbuooobboobbodobn
gogobobbobobobotbouodoooooobobbbobboodoogbe1nnnD
gboo200000000000

6.1000000000000000000000O00O00O00O00O00b0bO0bO00bO0bO0bObO00gd
gboobooboobooboobooboobooboob 3gobooboon
gogbbobuogoobbobuoooobbboooobbboogobboooobon
gbooboo2000b00b00boobooboobooboobooboon
ggbbobuogoobbobuoooobbbuoooobbbooooobobouooobon
gaob
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0e61:001x000020

ood O00O0o0ob0O0OO0o0o0ooooan
ood The children went to play in the park .
ooooad The children went to play in the park .
Oo1000 The children went to the park .
OO0 2000 | The children went to play in the park .
oodod OO0O0O0ODo0oo0o0oooan
0o I went out on to the main street .
ooooad I went to the top of the street .
ood1000 I went to the list .
ogd2000 I went to the top of the street .

6.4 U0OUOOOOOOOOOOOOOO

gbobobgobooboboelbde20000000D000O0OO0OOODODOO
googo

Joe T M-1 N-1
p(2LENELy H arg max p(E,,|J,) * H arg max p(Jp|Ep) (6.1)
Eo---Ey—1” 2 0<m<N-1 n=g 0Sn<M-1
Jo- M—1N-1
(m o H H m|Jn *p Jn|Em)) (6'2)

m=0 n=0
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70 0O40O0O0

gobbobuoggobbooogooboooobbobuoooobbbooonboon
gobooboobbobbooboobuoobooboo20b00bO0o0bOo0 10
gboboobobuooboooobobob 20 DicebObOOO0bOobDOoOoObDObDOD
giig200b0b00ooooobobobobooboobobobobooooobon
gogbbobuoooobbbuoooobbboooobbbooogoboboooonbon
gogbbbuoooobbbuoooobbbooobobbbooobbboooobbn
gogbbobuogobobboooobobuoooobboooobobbooad
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HEN
000071000000000

g 710000
oo oono
gboobooog 1000 103
gbooboooo 1000 406
gbooboo:0o000 1000 | 7015
goooao: 1600 18
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gggblbobbboboouoooooobbbbbbbouoooooooooboon
gobbobuogoobboboooobbboooobbbooooobobouooonboon
goggoobbbbbbbbbboddugg,obouduooooooobobooon

gobooogo
gobbbuooobbboooobbboooobbbuoooobbboodobo
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